® 13ha=130a
® 5.6km? = 5600 ha

® 8.5km? = 850000 m?

@)1.8km? = 18000 a

@ 92000a = 92ha

B

@ 13ha = 1300a

@ 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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® 100m? @10000a @ 0.1km?
@ 1ha ® 10m x 100m

&8

oo &9 E BT m? 2 HHLH,
@ 100m?

@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?




@ 56000000g = 56t

@ 380000g + 0.063t = 443 kg
@3.5t + 820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 HjolTt.

® 380kg + 4200 g = 380.42kg

1t = 1000 kg = 1000000 g
@ 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg
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. 250m <

o

0x
o

102000 m?

10.2ha
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0
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0
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0.102 km?

&8

(A2 E2] B o)

= (250 + 430) x 300 =+ 2 = 102000 m?

1km? = 100 ha = 10000a = 1000000 m? | 2&
102000 m? = 10.2ha = 0.102km? Y Yt}
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>
[> el 27ha

Z uFER 9] YoloA] 22 uE R o] Ho|E Wit}
(AR F2o] gol)

= 1600 x 450 + 2 — 800 x 225 + 2

= 360000 — 90000 = 270000( m?)

270000 m? = 2700a = 27 ha
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0.7t = 700 kg
700 = 60 = 11---40 O|B& 11 H7}A] &

>
39,
)Y
i)
o




At 100479} o) 50 437ke] £A1E AQEY 56 ol AgUTh ALt
3 AF7ke] A7} 30 kg ol2k u §F A7) RAE B kg 914 T3}

5t = 5000 kg

Attt 100 “g2Fe] FA] ¢ 30 x 100 = 3000( kg)
vl 50 AFAFO] B 1 5000 — 3000 = 2000( kg)
Bl 1 AFAke] BA 2000 + 50 = 40( kg)
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Uiro] 2 e 2 a 917 T2,

= a

2017} Z+2F 1200 m, 1500 m ©] 2L, 307} 2km ¢ Afr}2]

5

(Arehe] & meke] o yol)

= (1200 + 1500) x 2000 + 2 = 2700000( m?)
g Gl A Yol = wrel Heol)

= 2700000 + 3 = 900000 m? = 9000 a




